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Please make sure that the printed pages in this question
paper are 13 in number and it contains 20 questions.
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The Code No. and Set on the right side of the question

paper should be written by the candidate on the front page of
the answer-book.

ol SoeT T 3ccR SolT E A § Ugol IR FAI oGl g |
Before beginning to answer a question, its Serial Number must
be written.
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Don’t leave blank page/pages in your answer-book.
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® Except answer-book, no extra sheet will be given.Write to the
point and do not strike off the written answer.
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® Candidates must write their Roll Number on the question
paper.
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® Before answering the questions, ensure that you have been
supplied the correct and complete question paper, no claim in
this regard,will be entertained after examination.

g fader:

(i)58 Te1-99 # 20 ToT & 5 o R @oUsi : 37,99 3R g & ¢ 70
g
WS ‘¥ 59 WS F U G £ o 16 (i xvi) s F ¥ 5 6
aqmagﬁar«qﬁtr%l Yoddh AT 1 37 & ¢ |

GUE T ZH WS H2 W 11 0F el &F W § | T FeT 2 37l
el

GUZ T 50 WS H 12 7 16 T FoI 5 WA § | GcAT Tl 4 3l
el

GUE T 3 GUS A 17 W 20 0F Fof 4 WA § | FIF FeA 6 Il
el

(i) wer feard § |



(ili)TU3 T & FT T H HARD [dheq G0 M0 & 307 & T
ST Pl oA § |
(iv)fE 1T ITR 9O T I ScR- YRR & Y e Al K |
(V)IT® - 9O TR 3ell 3ccR -GIEhT 1 FATh 39T forg |
(vi)FerFAI & FAT Y A @ ¢ |
General Instructions :
(i)This question paper consists of 20 questions which are divided
into four sections : A,B,C and D :
Section ‘A’ : This Section consists of one question which is
divided into 16 (i - xvi) parts of which 6 parts of multiple choice
type. Each part carries 1 mark.
Section ‘B”: This Section consists of ten questions from 2 to 11.
Each question carries 2 marks.
Section ‘C’: This Section consists of five questions from 12 to 16.
Each question carries 4 marks.
Section ‘D’: This Section consists of four questions from 17 to
20. Each question carries 6 marks.
(ii)All questions are compulsory.
(iii)Section ‘D’ contains some questions where internal choices
have been provided.Choose one of them.
(iv)You must attach the given graph-paper along with your
answer-book.
(v)You must write your Answer-book Serial No. on the graph-
paper.
(vi)Use of calculator is not permitted.
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SECTION-A
10)3”  FR-R f) = (-1 @ vad
.l fo f(x) W E:
(A)xF (B)x>
(c)x (D) 3 — x3

If fR—>R begivenby f(x)= (3-— x3)% then f o f(x) is
(A)x% (B)x3

(c)x (D) 3 — x3

(ii) tan~1 /3 — sec}(=2) T AT T g 1
(A) T (B)=-

o o2

(€3 (D)

tan~!v/3 — sec1(—2) is equal to
(A) T (B)=-

T 2T
(C) 3 (D)?

(i A=[C9S @ —sin “]aen A+A =13 o FT AR §
SIn & cosa

(A (B);

(C)n (D)

I1‘A=lc9S “ 7ol al, then A+A’ =I,If the value of a'is

SIn a cosa
(A (B);
(C)n (D)=



(iv)afe & (2,-6),(5,4)and (k,4) aTel T3S T 81T 35 Tl
SehTS &1 al k 1 AT § 1

(A) 12 (B)-2
(C)-12,-2 (D)12,-2

If area of the triangle is 35 sq units with vertices
(2,-6),(5,4)and (k,4). Then k is

(A) 12 (B)-2

(C)-12,-2 (D)12,-2
(v)eSn ™ ¥ T x & FIET 3dehelel HITOIT | 1

. . -1
Differentiate ™ * w.r.t. x

(vi]Th g T T3S r=6cmd r & FIUET &9l H

qRade AT e § 1
(A) 107 (B) 127
(C)8m (D)11r

The rate of change of the area of a circle with respect to its
radius r at r=6 cm is

(B) 107 (B) 12m

(C)8m (D)11m

(vijgsh y=2x2 4+ 3sinxd x = 0 W AT
YqUTdT g 1




The slope of the normal to the curve
y =2x*+3sinxatx =0is

(viii) [ log x dx 2T hifoTul 1
Find [ logx dx .
(ix) fé(aﬁ + x cosx + tan® x + 1)dx T AT & 1
2
The value of E(x + x cosx + tan® x + Ddx is
2
4
()3T AT ZTZ sm( )o@rzn?rm
ST | 1

Indicate the degree of differential equation

d*y (d3y)
—= -sin =0
dx* dx3

()3T TGO x L~ y = 22 FT GO U

A ST | 1
Determine the Integrating Factor of the differential equation
dy _ o _ 9.2

X——y= 2x

xi)afeer i+3/+7k @maERY 71—+ 8k WUAT

A ST | 1

Find the projection of the vector {+ 3j+ 7k on the vector
78—1+ 8k.



(xiii) g3 (-1,0,2) and (3,4,6/8 BT SfTeT aTell X@T &1
gier AT AT AT | 1

Find the vector equation for the line passing through the points
(-1,0,2) and (3,4,6).

(xiv)Ife AR B g Ut geart § f P(A)# 03K

P(B/A) =1,d9 1
(A)AC B (B)BC A
(C) B=¢p (D)A=¢

If A and B are two events such that P(A)# 0 and
P(B/A) =1,then
(B)Ac B (B)BC A
(C) B=¢p (D)A=¢

(xv)AﬁTBWﬂmﬁa?@%aﬁ 1

P(A)=0.3,P(B)=0.6 A P(AJT B) & A AT IV |
Given two independent events A and B such that
P(A)= 0.3, P(B)=0.6 . Find P(A or B)

(xvi)Th TETeod T X & Gidehdl dead A fedr
g dl k & A AT AT - 1

X |0 1 2 3
PX) |01 K 2k 2k k




For the following probability distribution of a random variable
X, Determine the value of k

X |0 1 2 3 4
PX) 10.1 K 2k 2k

gus-q
SECTION-B
Z.EQW%@MW*:NXNAN 2

AEdT TEI & Tel axb=a’ +b2 § |
Show that the binary operation *: N X N = N given by
a*b=a’+b* is not associative.

63 . 45 3
3.f0e ﬁﬁl’@tanlg=sm1—+cos 1§ )

13
13

18 _gin 12 4 cos 13
Prove that tan ” Sin 13+cos -

vaf ) ] e Akl 2
gl k & A A1 AT |

IfA=E; :Zlandl=[é 2],findksothatA2=kA-21
safe A<, 2], o e & 24 = 414

_[1 2 _
IfA-[4 2],then show that |2 4| = 4|A| 2

8



6 fiy= | == AR #l  gawr oRerRa

m—2X
T
3, Qia X =E
T

efel x = - WA G Ak HAF AT AT 2

Find the value of k so that the function f is continuous at x = %

and f(x) = knc_ozxx,if X i%
. I
3, |fx—5

7.71¢ sin x + cos?y =1 & Fﬁ%mml 2

Find j—z if sin® x + cos® y = 1

COS 2%

8. Thelel T AThele] ATd ST | 2

(cos x+sin x )2

Find the integral of the function

cos 2x

(cos x+sin x )2

OTAHAA [ |x — 1| dx F AT AT P

Evaluate the integral f04|x — 1| dx 2
10.37dhel HHIAT Z—Z= ety & IUh gl ATd
$ifa 2
find the general solution of the differential equation

B _ ety

dx



11.U% f9AY FAEA & A AR B @RI T4 &7 4 &l
& TR Fa: o AN - 8 R de, s

2

T T TACAT & A & GIH N ¢, iewar
3Ad AT foh 397 § d2T: g Th AT gl 9]
oaT g | 2

Probability of solving specific problem independently by A and
B are % and 15 respectively. If both try to solve the problem

independently, find the probability that exactly one of them
solves the problem.

@us-g
SECTION-C
12.7¢ fifav & 4

-1 V14sin x+\/1—sinx) _x ( z)
cot (\/1+sin r—V1-sinx) 2 X € (0,

-1 V1+sin x+\/1—sinx) _x ( E)
Prove that cot (\/1+sin i—Vl-sinx/ 2 X €0, 4
13. Beld  xy = %) & fAv 3—1 GG
Il | 4

Findi—z of the function xy = e(*=)

14. WY & 4elcHsd &I x 3R y A AT arfe
x +y =60 3R xy° 3Tadd & | 4

10



Find two positive numbers x and y such that x+y =60 and xy’ is
maximum,

15.3f¢ d b, ¢ A% TS 57 WK § &
d+b+¢=0,a db+bc+2d® A AT ATl
If @ b, Care unit vectors such that @ +b + ¢ = 0, find the
valueof &.b + b.¢ + ¢.d 4
16.TF FFd F TN A AT [h dg 4 # ¥ 3 SR T
Al & | 98 T I I 3STeldl & AR adeliel & fo
38 T 30 alell T&IT 6 ¢ | 39 I WS ad
AT & T W 3 qrell G&IT IEdd H 6 § 4

A man is known to speak truth 3 out of 4 times. He throws a
die and reports that it is a six. Find the probability that it is
actually a six.

gus-g
SECTION-D

2 -3 5
17. Ti¢ A=l3 2 —4‘,a’r At FifaTl | At g
1 1 =2
eh [AFfal@d FHT e @ go Hifaw:
2x-3y+5z=11
3x+2y-4z=-5
X+y-22=-3

11



2 -3 5
If A=lB 2 —4\,ﬁnd A" using A' solve the system of

1 1 -2
equations  2x-3y+5z=11 6
3x+2y-42=-5
X+y-2z=-3
18I y=x" U9 y= Ixl & O &7 & &3%el AT
Fifaul 6

Find the area of the region bounded by the parabola y=x* and
y=IxI

Jgar
OR

ddged T4l =1 3R f4l=1d RY Ay
&I &A% A HifTl

Find the area of the smaller region bounded by the ellipse

§+§: 1 andthe line > + = 1

19. 3G fSfteht Wi FHIROT e=ifelf@d §,& o &

gAH I A HifeIT: 6
F=(1-0i+(E-2j+B-20k 3R

7F=(+1i+Q2s-1f-2s+ Dk

Find the shortest distance between the lines whose vector
equations are 7F=(1-t)i+(t-2)]+3- 2)k
and T=(6+1Di+2s-1)j-(2s+ 1)k

12



3gar
OR

36 del & FAROT AT ST fFH (1,-1,2) Faidse
g 3R S FHAT 2:43y-225 AR x+2y-32=8 F T UAH
W od g |

Find the equation of the plane that contains the point (1,-1,2)

and is perpendicular to each of the planes
2x+3y-2z=5 and x+2y-3z =8

203 fYr ¥ o gae &1 g il 6

X+Y 210, i (2)
X SV i, (3)
X = 0y2 0 (4)

Z=3x+9y & 7GeIqA AR HRSAA HT AT HfAT |

Solve the following problem graphically:
Minimise and maximise Z=3x +9y

Subject to the constraints: x+3y < 60,...cccevvevnnen. (1)
X+ V210, (2)
X SY o, (3)
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